X

SN MESI
M JIZMESBE(AMSEX /I ZHEEE)
C9l: B2 (B 20{12 SE3IH) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M 483,522 483,522 0
= 370,098
Al 92,524
- 20,900
I EZMEEH(ASSX /=S 2E 483,522 467,457 16,065
= 370,098
Al 92,524
- 20,900
2SI (AZS0HII= EE3 483,522 467,457 16,065
= 370,098
Al 92,524
- 20,900
SIEESHMBEE 478,687 462,622 16,065
= 370,098
Al 92,524
- 16,065
201 fer= 3| 9,686 7,286 2,400
= 7,749
Al 1,937
01 At22t2l] 9,686 7,286 2,400
Oget=ZH| 6.,316,000& 6.316
= 5,053
Al 1,263
OX0Pt= A=80-2A 1T S2E=3
s 7 7,058 %20 x173] 2,400
= 1,920
Al 480
OXH LS A= 370,000& 370
= 296
Al 74
OEEEIINELE-7ER~
100,000 *62] 600
= 480
Al 120
202 04| 13,600 13,600 0
= 10,880
Al 2,720
01 =LHO LI 13,600 13,600 0
O2ABI0IBRIA SHOIHI
260,0002 x3H 123 9,360
= 7,488
Al 1,872
O2lzg0 W0 3,600,000 3,600
= 2,880




SN MESI
M JIZMESBE(AMSEX /I ZHEEE)
Chel: oRBOIXIR(AZ20I2 SYaH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 720
Ot X+ XA 20l 0
80,0002 x2H *43] 640
= 512
Al 128
307 elzto| & 451,801 439,336 12,465
= 361,469
Al 87,867
- 12,465
0122 & 3=l 451,801 439,336 12,465
O8=s80A 332,960,000 332,960
= 266,368
Al 66,592
OESS0AIZ (Rl =01
12,465,000 12,465
OAdZdaF ] 106,376,000 106,376
= 85,101
Al 21,275
405 AHaHE = 3,600 3,600
01 IR ESF SHI 3,600 3,600
OgREs tES 7¢ 1,200,000 *3CH 3,600
oHHI(E2=20013 S23/3) 4,835 4,835 0
801 ofiell 4,83 4,835
01 Letoldlsl 4,835 4,835
oodisl 4,835,000 4,835




